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QUESTION 1

If Bob wanted to create a Management High Availability configuration, what is the minimum number of Security
Management servers required in order to achieve his goal? 

A. Three 

B. Two 

C. Four 

D. One 

Correct Answer: D 

 

QUESTION 2

Your customer, Mr. Smith needs access to other networks and should be able to use all services. Session
authentication is not suitable. You select Client Authentication with HTTP. The standard authentication port for client
HTTP authentication (Port 900) is already in use. You want to use Port 9001 but are having connectivity problems. Why
are you having problems? 
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A. The configuration file $FWDIR/conf/fwauthd.conf is incorrect. 

B. The Security Policy is not correct. 

C. You can\\'t use any port other than the standard port 900 for Client Authentication via HTTP. 

D. The service FW_clntauth_http configuration is incorrect. 

Correct Answer: A 

 

QUESTION 3

Fill in the blank. To verify SecureXL statistics, you would use the command ________ . 

A. fwaccel stats 

Correct Answer: A 

 

QUESTION 4

Which of the following is NOT defined by an Access Role object? 

A. Source Network 

B. Source Machine 

C. Source User 

D. Source Server 

Correct Answer: D 

 

QUESTION 5

Where does the security administrator activate Identity Awareness within SmartDashboard? 

A. Gateway Object > General Properties 

B. Security Management Server > Identity Awareness 

C. Policy > Global Properties > Identity Awareness 

D. LDAP Server Object > General Properties 

Correct Answer: A 
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